HZAEHLE

A = {zlz= 10 o5t AAS} |, B = {0, 1, 3, 5} | 4. T F 10 Hrt 22 3 o] wigo] e dauEy
d o ok F &2 AS Zat o A e 227
® BcA @ 0eA @ {1, 3, 6} @ {2, 3, 6}
® n(4) =10 @ n(A-B)=6 ® {3, 6, 9} @ {1, 2, 3, 6}
® n(A)—n(B) =17 ® {3, 6, 9, 12}
FAFA={1, 3,4}, B={z |z 69 &F}ol | 5. o= FT A F2= A2
ot o3 § &2 A2 25 129H? (A 270)
@® 12,30,72 9] HFe4= 6 ol
D 3eAd @ 1¢B
© ¢ @ 18,32,84 9] Hj-goF4= 4 ot
® oeB @ {1} e A
© e ® 24,52,108 o] H-5Fp= 4 ot
® {1, 2,3, 6}CcB
¢ be @ 16,48,120 ©] ZhFopsL g ofck,
® 9,36,96 o] F|th5oFp= 3 o|th
A {a, b, ¢, d} o FEHEY A7
D 47 @ 87} 3 16 7) 6. F A4 A< B 9 HAdFoter 8 A of, Fefe
7H/\1_.r)
32 7} ® 64 74
@ 14 @ 27 @ 37
@ 4 7 ® 5 71




7. Thg FOA 7152 WA ST AL BE 12w

8.

(= 270)

D ocA @ 3¢€{1, 2, 3}

® {1, 2} {1, 2} @ {0}co

® 1c{1, 2}

thell Al {5, 10, 15} oF 22 FF| A4E?

A {5, 15, 10}

© {1, 5, 10}

© {10, 5x 4, 5}
@ {5, 5x2, 5x3}
® {10, 11}

@ {25, 5, 3 x5}

® 17 @ 2 7 ® 37
@ 4 A ® 5 7

F AR 6 x z, 10 x ¢ &) HAaFE7E90 L o, o

o] gke Fafolat,

=
-

TE 1, Eol A AT 0 o= YZst
g AHgStel 0,1, 2, -, T MRS R E
2 UERd & glok ojeh 2 e R 30 =
2 UERfeE ol 2 7jo] A7t Each

[t
e
rd e
N o O

N
=
N
FNN
¢

-
c

@ 371 @ 471 ® 5 7K

11. A5 31 x A4 9] 0] A57E 10 AL o, 743 2L

= zpel 2% A & Fstele

(5 J=x
=




12. 2 9 #i50] WL A, 3 9 w59 WS B AL F | 15. 0 F T ATl A2 24 e RS Beret
o, o % &2 5L

® A={a, b, ¢}, B=1{b, ¢, a}

®2€A,1€B @ 3€A, 3¢B

® C=1{5,10,15, ---}, D=
®5¢A 5€B @ 6¢€A 6€B {z]zE 59] vl
® 9¢A 9¢B ® E={24,6,8, ---}, F=

{z|zE 8 ol5ke] A4}
® G = {z|lz=10°l5te] &5}, H=
{z]z= 9 olste] &4}
® I={z|lrE 150 2 AA%), J =
(2|2 25T 22 #4:)

13. th& 5 4 e ALY 27h)

@ {a,b,c}No =02

@ {d,ohx}u{d x, 7,2}

{5,k =71, 24 16. golu] v 8HY F Q1B A A U BAEES

G (s & 9 OLn{d ¥} = o] 9l s
CX B Avihig o] = 2 201, keI EA Aot H&
BAEES 7HE Aol Sl s 27

@ {z]z= 10 o5k &4} N {1,2,5} = {1,2,5}

® {x|m— 12 9] ¢ —/F} N {:c|x— 18 9] Ok’\} -
{z|z= 6 ©] oFF}

14. Al A4 5, 6, 8 F o= A0 Lirolk Yoz 7} 2
A FollA 71 242 Al A2l o] A g FHsH?

17. o2 % 210 9] 49157} obd 722

@ 111 @ 122 ® 148
@ 162 ® 180 @ 10¢9) @ 11y ® 1002

@ 1019 ® 111




18. obgolet theolt 217t 8 U, 12 4 AAoE e
Hood BARES 81 ek 4 9 5 Lol BA B
A2 SHTHE theel Ago 2 BAES W

She ge % g mEp

O 49290 ¢
@ 44928Y

®5¥34

19. oj®
i} of® A4t 9
sfefet.

> Rog
=%

ofl/\E

1=

20. dAH" U

@ 4¥30¢

@s54914¢

& Y= JHA e

A=
T=

308 L%lﬁl% 18 $F 24 o] Zuj4=7}

?‘

& U = {zfai= 20 OI5}e] 39] W5} o] =
HFE2H4 A B o tstel B - A = {9,12} o]X
(AUB) = {18} & |, &+ A =7
@ {3,6,9} @ {3,6,12}
® {3,6,15} @ {6,12,15}
® {12,15,18}




